Juz 3 part 2 Root Words

Surah Al-e-Imran (Verses 19-91)

Meaning ROOT WORD| WORD AYAT
LS CaMai) GJg iRl 1o
=S WA s 5 E G
= ¥y S ala £ o &L/)“-"‘
H s ad Eaall) 20
TS Az S u’@AJ
| e LS £L0) £ uuff
Rhcyluog & AR | giA]
e D AL
o sp! &3Ak 21
< Y u.ul:dﬁ\’
S 2 g A g Joh e eiJM
i
=ires b s 22
e Lo L\,,ua-\ 23
2 S Alad b g ASU aST M
o Sy S8 oal s oA LE 0\9:4‘)’-3
o (R s SLRET, Ul Y
oidiongiaid | J0E SFs
= e 59 gJic £ 553 26
=B ale & JJE 3’3




= Ll ¢ JJa
= B8 JA s cJds 27
= S i zJt
oz A Y 28
KPS Jg
5 s3I
Ol = L13 ) JSC
S sAE 29
=R R
98 e 30
K oy 22
Uy Ll sas
SIM 98 soH & o & 31
38 celh) £k 32
W oa S 33
S ol Jog JAE s
o ) SEE 34
o S g 35
= U G g Od o ok
3130 23T “\a
S Gl S o = S, pl Sp 36
S o (S Giug 9 S Q@ 37
Al e $g 38
S s B sdue 39
oS A pd S

A\\




sy Juet | 29mas
0% 52 Er om Edw s 40
Chy S g ) JS @ Y15 41
42 LS Sy ) soh gk 42
R el oy R e 43
G 43S g # Ll 44
= o S8 9 STI 4 5l
) o 2dd sgalt]
¥ =t B4 05 puat Gsanaiay
s C g Gl 45
@k b/l b °Z 9 Y
QA [y gald Sua U:"'Jgﬁi
e 4 Ay Jos Ml 46
= 1562 gyer (i 47
(e O h bl 49
08 Bl S5y Ue g s fiild
S AN iy 6 aS aasyi
& s (p12) vasr 09 gl e Gl
o Yy SIS sl BAue Biasg 50
Q3RS o (e ASU Jdz Ja¥
oA Spla 2oC A
2 29 A 51
LS grina e () 52
= s 03¢ S5 3l
2 e Sosd s, ) 9384 54




w3 Yy il gy sz s < 55
=
5 an Yy gl &JJ
=68 0 ¥l S8 Sy Jok
| = L1 ET
& 98 Al e 58 YoV
=8 DA o G JE .
B anbal gy o8 ooy g 6 g ag25 57
o oy S S S C iaall 60
3 Jd& VI 61
o =k ¢
it ) i JJE 62
=Yl Gesa i d ?dC
5 aslly S Al d 63
S Cale A S 64
= Jd
(Alide) ES
S S
S S dJod
0188 3o
O M Ul ad
5 S8 B s ZCC 65
=S, Jie ol JAg
e 2 pdE 66
e GOz 67
Lia Qa9 69




TR Ty ik
O 3 S o) a8 0 g JJ ua 3K gl
=S spdieg JE U i i
3 SIS o d &l 71
= 09 8 S djb 3._6:\& 72
Jy 0T 9 435
(&J) P =
=t Bia e ) 5 e U 73
S Sy | wauet | oA 74
S JBod Sl 75
o L s Gy Y 76
o = ¢ ok O9 A 77
o) 8 2 S Sy o 9<S ) ?’HSJ;
38 S 2 3o &, Al 78
(xSl 5) i
o s s 3 sk
o) Sham i 5B Qg > g
H S 2 2de G5l
=< s <) Ay
s pSC ]
S e 5 5l
=8 = g 2y
Lt Lt g5 05 Jp! RAF 80
Sy Jc\ \34;33
3 chalas Gsalid




e

S A Q@ & 9 {"'s_u.q:'“/ 81
= 5 LS A JJ38 &350
|osa 3 Jua | LSQ*‘!
3 st R 83
(W95
o SIS Ak /
o A £ 9k e sh
= A L) 0SS F Y
Nyl S 1 Qo ./hl.:slu\j\’ 34
o B > pd ol | 86
=8 =% 36 ) 9333 90
== Sse ER 91
Gl o2 oa N
e o s 3o 15 5]
IS o e R Juad Gl (ra




